§7.1

1
Qbf (X)dx f (x)dx = dF (X)

Xx=a x=b(a<b) y=f(x) y=9(x

f(x) g(x) f(x)2 g(x) X X+dx
f(x)- 9(x) =(f(x) - g(x))dx = dA(X)
QLF (9 - a(x)]x
]
\/—4\/ &
g=a qgq=b@x<hb) r=r@Q)
q q+dq
1, 1o,
dA@) =Zr"(@)d >Q I @dg
1 y2=-4(x-1) y*=-2(x-2)

y* =-4(x-1) x=%(4- y*) ¥ =-2x- 2 x=%(4- y°)
y=%2
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_28la. vy, il 2z
S=Q,6 (4 V) -4 (4-y)gdy

=29~ y)- 1(4- y)ay =8

N

1
X==(4- y?
2( y)
l—
1 —
Xx==(4- y?
4( y9)
2 r’=a’cosy
1 2 2
S—4x§q‘a cos2q dqg =a
3 r =a(l+cosq) (a>0)

f =a(l+cosq)

S= Zx%(‘gpaz(ﬂcosq)qu

2

=a 6(1+2(:osq +cos®q)dq

— a2 1+cosy

=a'Q (1+2cosq +T)dq

3 2

=—pa

2p
= x(t . — (b
X=X o prgpy [X@)=X0)
Ty =y iy@)=y(b)
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(00) (xy) (x+dx,y+dy)

0 0
1 11x y|_1
as==| x == == (xdy- ydx
2 Y 2 |dx dy‘ 2( Y-y
X+dx y+dy

:%Q xdy - yox = —Qb[X(t)y‘(t)- y(t)x¢t)]

X+ X, y+ y)

y
F x.y)
(0’0)\/ X

4 ix=a(t- snt) 0FLED
% y =a(l- cost) ( P) X
1.2 (1) =to
$=2Q (X&) - yOxe)d vt =0

ax=a(-gant) 0
y = a(l- cost)

2§ KOy - yoxe]a

1> 5. 2 12 5 :
_EQ a“(1- cost) dt EQ a“(t- dnt)sntdt

=3pa’
2
A(X)
S
Y
Xx=a Xx=b (a<b) x:aE xXEDb
A(X) X X+dx
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AX)dx A= d’A(x)dx

y=F(x)
A
AKX =py?
X 360 p f2(x)dx
A=p &S F2(x)dx IX=XO o e
°Q Ly =y
A=p QY2 (X(t) =p § Y2 (1) x€t)ct
y
ds dy
dx
0 X
(x,y) (x+dx,y+dy) ds® = dx® + dy?
S= d’de? +ay? = Qb XE0)? + ygh? dt
y=f(x) S= L+ F&x)7 dx
}x =X(t) «
Ty=y®
2p yds P =20 ) Y(D/X€)* + yat)? ot

y=f(x) P=2p ) F (y/1+ F4x)? dx

r=r@)
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P= Zprr(q)s'nq r(q)*+r¢q)® dg

i x=r(q)cosq
1y=r(@)sing

x4q)® + y4q)® =r(q)* +réq)’?

8

(x,0,0) X

_ o @ o o, 16,
= a7 x P(Y =@’ - X S=8QE@’ - x)d=-ra

3
6 282 =X+ y? Xty 422 =3 (a>0) 250
z
X
2 Z2=2a

ix2+y?+272 =332
P yz Zz 5 z°+2az=3° (z+a)*=(2a)° z>0
1 X +y° =2az
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a a 3
Y, =p@2azdz+pc‘f (3a2 - 2%)dz = p; (6J3- 5

ix=a(t- snt)

O£t£2
%y:a(l- cost) ( P)

X(t)=a(l- cost) y(t)=adgnt

S

sz Jaz(l- cost)® +a’sn’tdt
sz a,/2(1- cost) dt
= ép Za}s'n

N~

Udt =ga

2

i x =acos’t
|
fy=asn®t

y

t:0®% x€t) =-3acos’tdnt  y¢t) = 3asn’t cost

]
S= 4(‘92\/9a2 cos'tsn®t +9a’sn “tcos’ t dt

P P
= 12a©2 costdntdt = 12a(‘92 dntddant

P
= 6as'n2t|§ =6a

i X = acost

Oft £
{y=bsnt »

X((t)=-adnt y(t)=bcost

P
S:4c‘j«/a2 gn?t +b?cos?t dt
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P 2_ 2
:4a(‘j\/1- a azb cos’ t dt

P
:4a@j«/1- e’ cos’t dt
e :lxla2 - b?
a
f(@) :(‘5«/1- e?cos’t dt
Xx=acost y=bsant

_l\zp _ab \2p 2 in 2 —_
S_EQ xdy - ydx—?q (cos”t+d9n “t)dt =pab

ix=a(t- Iant)
10 i (0Et£2p) X
1y =a(l- cost)
ds:Za‘s'nL{dt
2
P=2p 5’ a(l- cost)Xadn t dt
Q 2
% .t
=4pa’@) (1- cost)sn—dt
dpa‘qg ( )sn =
2p . ot
=8pa’Q) sn’—dt
8pa”Q >
= 16pa’ (‘5 sn®udu
=- 16pa2(‘?p (1- cos®u)dcosu
p 64
= - 16pa’(cosu - 4 cos’ u)|O :?pa2
11
X2 2
a_2+b_2:1 (a>b) X
b? b?
yzzbz-a—zx2 yy¢:-?x
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e=
a
P:ZpEC‘;\/az-ezx2 dx
a a
:4p9(‘5«/a2- e’x? dx
a
b 1 a’ ex |2
=4p —(=xWa® - e?’x?® +—arcsin —)
a2 2e a g
= 20b(b + 2arcsin e)
e
y
Pl:2p(‘)bbx1/1+xtf dx
2 2
= ‘bﬁ\/b2 2 "0 dx
bp a
3 é.[q2 2 2 K2
. b é«/a bXJa b* 2 iq
bJa?-p*g b b*
2 2 2 2 u b
T LSV SR NC I
b? b* ?
0
e 2 ' 2_ 2 0
= Zpata+ b In Y2 b”+a>
& Ja*-p’ b5
87.2
1
a <
i X =X(1) ||
i k = m =
Ty =y 5l
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k ={lim
Ds®0

(U]
x&t)

<

%

y(t)

a =arctg=—=~

x¢t)



& = w7+ yay

g aey(l‘o
a
Lo ex% _|xo xet
E (x¢ +y¢2)53
dt 1+& x@ +y¢2
é gﬂ )
y= 109 =L
(1+y¢)?
— =" +2r<§-2r¢
(r? +ré¢)2
R=1
k
C
R
M
i X =Xx(t)
i @ £x£EDb) r(t)
Ty=y@)

M =d’r(t) XCt)Z + y¢t)Z dt
C vy X

= T (OXOXE)? + yat)? ot
= O OY(OxE)? +yan)? ot

- M b
x=—2= MiQr (XX + y €02 di
Y= =2 A YOV + y&)” o

r)=1
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- 1] - 1
x—l—Qxds y—l—des
- N
20yl =2p Qyds
y
v
0 x Ix+dx X

x*+(y-a?’=R?* (@a>R) x

S=2pax?pR=4p *aR

dM =[f(x)- g(x)]dx
y dM, =X f(x)- g(x)]dx
X M, = 2[f (9 +g(I[f(x) - g(Adx

= 2[f%(x)- g*(X]dx

_ m, pf09- g0l
X = =—

Mo QLf(0- gl
L S QN9 g0l
y= MX =

QLT (9 - g(x)]dx

20y (%) - g =p[t3(x) - *(X)dx P y*S=V
\% X
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x=xt) y=y® y X
d,=xrds r=r(t)
dl =y?rds
|y=éﬁr$=é&mya)xmf+y@fm

1, = QY7 ds= QY () ()4/xE)7 + yet)? ot

§numx
§ﬁfamx n
5wfumx
4
m m, r F:Gmlrznz
r
2| M a(a>l) A 1
M« I GM/2l GM
-1 0o | a dF =G —2 =9 /2 =
(a- x)? (a- x)? a’-1?
F(X) dx dW = Fdx a b \N:éﬁmm
vV r(xy,z)

F=F,i+F,j+Fk

E o= oo kr (X,y,2Z)(X- X,)dxdydz

LI ) (Y- Vo) + (2 z)f
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F = kr (X1 Y, Z)(y- yO)dXdde

T %)+ (Y- Vo) + (2 20)2F

F = Ao\ kr (X! y) Z)(Z' ZO)dXdde

Tl %)+ (Y- o) +(z- 2)%f

8§ 7.3
X
1 X r(x)=100- — /
25
1000 1000 2500
R(1000) = & r(X)dx=¢)  (100- =)dx = 80000
Q Q o5
R(1000) = RA0QO) _ gy

250
Y

R(2500) - R(1000) = QOOO (100- 2—X5)dx = 45000

R(2500) - RA000) _

2500 - 1000 /
2 C X
CQX):4+£ R X R(x) =9- x
1 1 5
2 CcC@0)=1

1 C(x)= 5(4+§)dx:19
R:qf;(g- X)dx = 24
2 C(x) =C(0) +@Xc¢t)dt
=1+ 6(4+%)dt =1+4x+%x2 ......
R(X) = (9~ t)dt =9x - %x2 ......
L(X) = R(X)- C(X) =5x- gxz 1
L(x)=0 x=4 L(4)<0 x=4 L(4) =9
C(4) =19 R(4) = 28
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3 y t (N-y)

t

0 y(©0) =y, y t

Sy e

y(0) =y, C=(N-vy,) Yy=N-(N-y)e"

k>0 Iti(ggy:N;
k<0 y,>N Iti(grgéy:+¥
8§ 7.4
) g(x)  Ug(Xp) g(x)* 0
1 Iimw:A At¥ 0 f(x) g(x) A=1
“@% g(x)
fFO)~g(x)  x® X
(X _ _
2 lim ——=0 fO) 9(x) f (x) = o(g(x))
@ g(x)
X® X,
3 $M [FOIEM g | xT Ug(xo) f(x) =0(g(x))
X® X,
dgnx~x x® 0 1-cosx~%x2 X® 0
sinxsin%~0(x) xX® 0
FO) g Ug(x) g(x)* 0
1 Iimw:A At¥ 0 f(x) g(x) A=1
5 g (X)

fF)~a(x)  x® X
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9,

2 Xlgrxlo 00 f)  g(x)
X® X,
3 $M [TOIEM [g(x) | xT Us(x,)
X® X,
n~n+l nN® +¥ X =0(x?)
xsnx=0(x)  X® +¥
X® X (X- %)" k
3 k k
” o O
1 o(g(x) = o(g(x)) = o(g(x)) X® X
2 0(9:(¥)*0(9,(x)) =0(g, (X)xg, (X))  x® X
3 0o(O(g(x))) = o(g(x)) X® X,
4 O(o(g(x)) = o(g(x)) X® X,

1 a(x)=o(g(x)  b(x)=0(g(x)
"ma(x) =0 lim —= b () =0
x®% g(X) x®% g(X)
lim a()b(®) lim —— a(x) + lim —— b3 _
©0 g} ®xug(x) @ g(x)
a(x)£b(x)=0(g(x))  x® X
2 a(x)=0(g,(x))  b(x) =0(g,(X)
a®EM]g,0]  Im2X =g

®% g,(X)
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f(x)=0(g(x))

f(x)=0(a9(x)

X® +¥

X® +¥

X® X,

X® X,



a():b() _,

o (09,00 a(x) b (X) =0(9,(x)9(x)) X® X

3 a(x)=0(g(x)) b(x¥)=o@(x) x® x
l[a(X)IEM |g(x)| Iimwzo
x®% a (X)

jim 2 = 2P _
@x g(x) @ gxa (x)

4 3
x® 0 1- coq(9n x)

b(¥) =o(g(x) x® x

1- cosx :%xz +0(x?)

1- cos(sin X) =%(s'n X)? +0(sin ? X)
= 2+ o] +0(0()
= %xz + X>0(X) + 0(X) ¥0(X) + 0(x?)
= %xz +0(x?)

1- cog(sin x) ~ %xz

§ 7.5 Taylor
1. Taylor

Taylor f(x)T C™(x, - h,x, +h)

n
[o]

(k)
F09=4 P x- %)t +R (9

k=0

RO9==g) 10200 07t [x- x| <h
R,(%)

n+l

X (n+1)
R,(9 == £ () (x- 1) dt =T & (. )

n! (n+D!
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X X, X Lagrange f(x)T C™(x, - h,x, +h) f(x)

n+1 n+1
Lagrange Taylor
" (x) na "
X) = X- =ol|(x- X
R =~ 06 %)™ =ofix- ')
Peano Peano Taylor
Peano Taylor Lagrange
Taylor
2 Peano Taylor
XO XO

()= F(%)+ FO)(X= Xo) +0((X- X,))
f (%) + FOx)(X- %)

f(x) (X=Xo)

n n

f(X) =8y +a,(X- Xp) - +a,(X- %)" +0((x- %,)")

1 ()= +ay(X- X)+-+a,(x- %)" +o((x- %)")

F(X) =ay +a(x- X,) +--+a,(X- %)" +0((x- %,)")

= by + B(X- %)+ +b, (- X,)" +0((x- x,)")

X® X a, =by, (X- X,)
8, +8,(x- X))+ +a,(x- %) +o((x- x)"?)
= b, +b,(x - %)+ + b, (x- %)™ +0(x- x)™)
X® X a =b a, =b, k=n

2 f(x %X N
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F0 = F06)+ 22 (x5 + -8 ()7

(n)
U8 ey +of(x- )
| = lim (9 - 2 (k)(xo)(x %)y =0 (FO(x,)=f(x) O=1)
®x (X X)" 1 k=0 E;
f(x) X%, n Xy U (X,,h) (n-1)

(n-1) de Hospitae

éf (™D (n-1) U
=i 2500 TTI00) oy itz
®% nl g X=X 0
g
0((x- XO)”) Peano a %(X- X,)" n Taylor
k=0 .
_ ¢ %) & :
X, =0 a—— O X +0o(x") Peano Maclaurin f(x) X,
k=0
n Taylor
f(x)=x""D(X) D(x) Dirichlet x=0 x10

f(X) =0+0x+---+0x" +0o(x") Taylor

3 Lagrange Taylor
3 f(x)1 C"a,b] (a,b) (n+) "X %1 [a,b]

f(x)= f@‘o)"‘%(x- x;) + f“g(())(x_ XO)2+---+

£ 0x) )

(- x)" D) (x- %)™

X X X

)= 100- 110+ x- 1)+ L8 (2 os T2 oy
1 2! n!

G(t) =(x- )™
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[%.X] (%5:%)
Fay=- 1M gy
n!
G&t) = - (n+1)(x- 1)
F(X)=G(x)=0 Cauchy

F(x) _ FOQ)- FOO _Fa&) _ ™)
G(x) G(x)-G() G&) (n+1)!

(0= 106)+ -2 (x- x) + L2 (- 24t

(%) Y

A XX ey %)"
3 f(x) (a,b) (n+] " X,XOT [a,b]
F0 (ab)  fO(0=0  f(x) n
%1 (@,b) " xI (a,b) Lagrange Taylor

£00 = 1 00) + 28 (- ) +FH) (5 sy s L2200 e
1 2! n!

n
% =0 Lagrange Taylor Lagrange Maclaurin
Taylor
Taylor Maclaurin
n n ax
1 eX:éX—Jf € xm 0<q <1l -¥<x<+¥
ko KL (n+D)!

3 5 2n-1
2 S'nXZX-X—+X_+...+(_1)n-l X +(-)" C0sg X Nt

a 3 (2n- D! (2n+1)!
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0<q <1 - ¥ <x<+¥
_ x2 x4 . ol 1 COSUX g
3 cosx=1-—+—+---+(-1 +(-1) X
2 4 2n! (2n+2)!

0<g <1 - ¥ <Xx<+¥

3 5 2n-1
4 5hx:x+x_+x_+...+ X + chg x X2+
3 b5 (2n-1! (2n+D!

0<g <1 - ¥ <Xx<+¥

2 4 2n
5 ChX:1+%+%+...+X Cth x2+2

2nt (2n+2)!
0<g <l -¥ <x<+¥

2 3 n
6 INN1+x)=x- —+2X .+ X
2 3 n

n+l

X
(n+)(A+gx)™

0<g <1l |x<1

7 ([1+x)?*® :1+ax+m+a(a -1)---(a - n+1)xn

n!
+a(a-1)l(a_ n)(1+qx)a-n-lxn+l O<q <1 |X|<1
n!
f V(%) f ™(0) Peano
Taylor
8 f(x)=arctgx fe9©0) =0 f@0) =(-1*2kK)
3 5 2n+l

+ O( X2n +1)

arctgx:x- X—+X_+...+(_ 1)n
3 3 (2n+1)!

11 1£x5+...+ 1 (Zn'l)!!X2n+1

9 acsn X=Xx+=——x>+= +o(x2™
32! 5 411 2n+1 (2n)!!
f ™ (Xo) n
Taylor
10 e x* Taylor
ecosx —_ e>ecosx 1

€ ,Cosx-1 (cosx- 1)?
¢ 1 2

u
+0((cos X - 1)2)((l
U
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=e§1+§%+x—?+o<x )ﬂ+5§-—+o(x) +o(o(x))u

X2 4

e X U
=eal- —+—+0(X")y
P
:e-§x2+gx4+o(x4)
11 I(1+sn®x) x* Taylor
In(1+sin2x):s'n2x-%sin“x+o(sin4x)
_ 1., ay2 1 4 4
—[X'gx +0(x")] -E[X+0(X)] +0(X")

=x? - gx“ +0(x*)

12 | = lim [3/%3 +3x- VX% - 2x]
X® +¥

x®+¥? e X
e
1 é 1 3 1 e 12 au
= lim | xg +_><_2+oge—29'l- XAl - _x_+083—1+
x®+¥'|\ 8 3 X eXx dj é 2 X ex
él . u
= lim é—+ogilg+ 1- o(3)y
X®+¥ex Xg u
=1

13 a,=(n+)I(1+3)-1

e 1l&él 1 1 o'el ou

a”:gn+2£n P 8305

1 aelo 1 1 aelt')l]1

e i R +0 - -
81 2n ?@ 2n 4n? gnzaj
1 &elo
= +0C—~+
12n2 gnzg
a - 1
" 12n?
5 Lagrange
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f(x) [a,b] [a,b] a=x,<x<--<x,=b

n RO R(x)=1(x)
P.() (n+]) P(x)=f(x) i=01,n (n+]
(n+J (n+J
w,(x) i=0,1,---,n wi(x)=1 w,;(x)=0 it
(X =& T X)W () w, (9
W00 = (x- %)X~ %) (6 %) (n+) we9
X- X%
. W(X) _ W((x): _ ) = w(X)
;0 X% I;g;—x_ " lim 1 wx)  w(x) W)
f1C'abl f (ab) (n+))
(n+1)( )
f(x)= af(x)vv(x)+( ) w(x)
Taylor Lagrange [a,b]
§7.6
1
1 f(x)1 C[a,b] (a,b)
1 f(x) [ab] U f(x)3 0, "xI (ab)
2 f(x) [ahb] U f(x)£0, " xI (a,b)
1
f(x) [ab] "x1 (a,b)
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f(x+Dx) - f(X), 0
Dx

Dx® 0  f(x)2 0

x+Dx1 (a,b)

"X, X1 [ab] X <X, [x,X,] Lagrange
f(xz)' f(Xl) = f((X)(X2 - Xl) 20 (X1 <X < Xz)
f(x)3 f(x)

2 f1 Clabl (ab) f(x) [ab]

1 ()30 (F()£0), "xI (a,b)

2 f(x) (ab) 0
f(x) [ab] 1 f(x)20,"xl (ab)
2 $@,b)l [ab] f(x)=0 a<x<b f(Xx)=C a<x<b
f (x)
f(x)30 f(x) [ab] $a
bi[abl] a<b  f(@)=f(b) f f(x)=f@@) a<x<b

f(x)=0 a<x<b 2

3 f(x) U(xy;d) f(X)=0 fUx,)
1 fx,) <0 b f(x,)
2 fqx,) >0 P f(x,)

Fermat f (X,) f(x,)=0

Taylor

10 = 1)+ 1) %)+ 12 (x- 32 +0((x- %))
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= 100) +g o T °)+o(1)g(x- %)’

X® %, o(l) $d,1 (0,d) x1 Uy (X:d,) %+o(l)
f qx,) fqx,)>0 f(x)>f(x,) " x1 U,(X,:d,;) f(X,)

FUx) <0 F)<F(x) "xTUg(xidy)  f(%)

1 x3 -1 —£In(1+x)£x x=0
1+x
x=0 -1<x<0 x>0
IN(1+ X) <X f(x)=x-In(1+x) f@O)=0 f¢x)=1- 1%:
X
X x>0  f(>0 f(x) [0+¥) f(x)> f(0)=0
1+x
IN(1+x) <x -1<x<0  f(x)<0 f(x) (-10] f(x) <
f(0)=0 In(1+x) <x
X X
—<In(1+x) x>0 0< <l -1<-—<0
1+X 1+X 1+X
- X Sin(1- ———q_ I1+x) ——<In(1+x)
1+Xx 1+x
S1<x<0 -2 50 -X s ——q X <in(1+x)
1+x 1+x 1+x
f (x) [a,b] "x X1 [ab]

f(tx +(L- 1)%,) £1F(x) + (- t)f(x,) O<t<1

f(x) [ab] X%

(XY (%, Y,) y

i x=tx +(1- )X,
Ty =ty +(@- 1)y,

y="1(x)

O£t£1

O () (6, FOR)) (%, F(%)) X <X <
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X f(x)
D=x,  T(x) 1

X T(%)

y y

O X1 X I)(3 X 0] X1
D>0 ()
D<0 f ()

t -t

X f(x) 1

D=|0 f(x,)-th(x)- A- Df(x) O

X F (%) 1

=[£(%,) - ) - @- ) FO(% - X,)
f FOQ)ELF (%) +A-1)F ()

fFx) <tf(x)+(1- )T ()

X2 X3

FOe)- F(x) _ F(Xs)- (%)

X <% < X% X
2

f xT (ab) f(x) x X
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1
f(x)—\l' 1 x=0
“1x2 0<x£1l

0 1 X
4 £l Clab] (ab) f(x) f(x)
(a,b) f (x) f(x) (ab)
"X, X1 (@b x <x, f(x)Ef(x,) h>0

x,- h x,+hl (ab)

FO)- T ) o T00)- TO4) o T 1) - T(x,)

h X, = X h
PR TRISI S ETP
f(x) (%,%;) X’
FOa)- Fx-h) _ f(x)- Fx) o f(x) - f(x) < f&+h)- (%)
h X - X X, - X h
h® 0
e 100 [l < L) 0D g o) 100)< 0
f(x) X X Xl [abl x <x<x
F(x) - f(X1)£ f(xs)- (%)
X;- X 5%
Lagrange f(x)z(): ;(Xl) — qul) f(x)s(): :(XZ) — quz)
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